	[bookmark: _Hlk34728649]Indikátory výstupu

	Stanovená hodnota PA
	Minimální hodnota
	

	60000     40
	22 tj. 55%
	
55+100+100:3=85%
	
Bez sankce

	67001     3
	3 tj. 100%
	
	

	[bookmark: _Hlk34728398]80500     1
	1 tj. 100%
	
	



Výpočet pro minimální hodnotu indikátorů výstupu a výsledku bez sankce

	Indikátory výstupu

	Stanovená hodnota PA
	Minimální hodnota
	

	60000     40
	22 tj. 55%
	
55+100+100:3=85%
	
Bez sankce

	67001     3
	3 tj. 100%
	
	

	80500     1
	1 tj. 100%
	
	

	Indikátory výsledku

	Stanovená hodnota PA
	Minimální hodnota
	

	62500     11
	10 tj. 91%
	

91+100+91+100:4=95,5%
	

Bez sankce

	67310     12
	12 tj. 100%
	
	

	62600     11
	10 tj. 91%
	
	

	62800       0
	Není relevantní
	
	

	67010     20
	20 tj. 100%
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